

# 19,772

# **Change Order Approval Form**

Program Name	Hunt County	Date	10/24/2025		
Customer	Virginia Phillips	Phone	903-453-6842		
<b>Customer Email</b>	vphillips@huntcounty.net	Change Order #	002		
L3Harris PM	Melissa Marshall	Phone	210-965-8876		

#### Change Order Details:

- Scope Change
  - Addition of Critical Spares to the scope of the Hunt County agreement with L3Harris dated August 26, 2022, as amended.
  - Addition of quantity 1 encrypted Pathway+
  - Return of quantity 1 non-encrypted Pathway+, unused and in original box (the "Returned Interoperability Equipment") not later than 11/15/2025.
  - Services provided by L3Harris through its installation subcontractor, Ka-Comm, for the installation and configuration of the Hunt County interoperability system, including the encrypted Pathway+, as follows:
    - Ka-Comm will provide and install all components of the antenna systems and install them to L3Harris Site Grounding & Lightning Protection Guidelines T4618RevF
    - Ka-Comm will provide the necessary 48V to 12V power supplies for all necessary tower sites to power all of the County's interop equipment
    - The 12V power supplies provided by Ka-Comm will be powered off the DC plant so that the DC plant batteries will provide backup power for the interop equipment until the generator takes over in the event of a loss of commercial power
    - Ka-Comm will program all the interop equipment at the sites and also integrate this interop equipment with the Symphony consoles located at the HCSO Dispatch
    - Ka-Comm will test all interop equipment end-to-end; County representative(s) will witness testing
    - Hunt County will support the testing by providing MOUs, programming info/details, and all coordination with the interop agencies.
- Schedule Change Schedule to be updated based on receipt of the Returned Interoperability Equipment.
- Price Change +\$157,101.87
- Attachments (incorporated into this Change Order by reference):
  - Equipment List Attachment A: Hunt County Critical Spares and Interoperability System



DCPO204-f01, Rev -



Change Order Pricing Details	Price
Infrastructure Critical Spares	\$ 63,357.30
Interoperability Encrypted Pathway+	\$15,977.50
Pathway+ Return	\$-4,154.13
Interoperability Equipment and Services	\$83,921.20
Total Change Order Price	\$157,101.87

Total Contract Value	Price
Original Contract Value	\$4,302,717.94
Change Order #2 Value	\$157,101.87
Current Contract Value	\$4,459,819.81

Approval/Acceptance	October 28, 2025
Customer Signature	Date
L3Harris Contract Manager Signature	Date



#### ATTACHMENT A:

## **Hunt County Critical Spares and Interoperability System**

[ Attached Separately ]

DCPO204-f01, Rev - Page 3 of 3

# Hunt County Critical Spares and Interoperability System

### **Critical Spares**

•	citticat spares								
	Part #	Description	Qty	Unit List	Ext List	% Discount	\$ Discount	Ext. Sale	Prod
	A30-1154-003	MODULE, TP4100 BASE UNIT WITH RUBIDIUM	1	\$19,205.00	\$19,205.00	0%	\$19,205.00	\$19,205.00	VM
	A30-1448-020	THUNDERBOLT(R) PTP GM200 GRANDMASTER CLO	1	\$3,290.00	\$3,290.00	0%	\$3,290.00	\$3,290.00	VM
	VSVS01	VS PROD GRP, CONFIGURED MODEL NUMBER	1	\$440.00	\$440.00	0%	\$440.00	\$440.00	VM
	VS-CR1Y	ROUTER,ISR,C1111-4P,SEC	1	\$3,100.00	\$3,100.00	10%	\$2,790.00	\$2,790.00	VN
	VS-CU8Z	SWITCH,SMARTNET,C1000-16T-E-2G-L	1	\$1,650.00	\$1,650.00	10%	\$1,485.00	\$1,485.00	VN
	VS-CU7Y	MODULE,SFP GBIC	1	\$500.00	\$500.00	10%	\$450.00	\$450.00	VN
	VS-CR2U	ROUTER,NOKIA,7705,SAR-8,DC	1	\$12,000.00	\$12,000.00	10%	\$10,800.00	\$10,800.00	VN
	VS-CU9U	MODULE,NOKIA,8P GE SFP CARD	1	\$3,100.00	\$3,100.00	10%	\$2,790.00	\$2,790.00	VN
	VS-CU8P	ALCATEL, COPPER ENTERNET SFP, 100M	1	\$125.53	\$125.53	10%	\$112.98	\$112.98	VN
	SAMD8K	MODULE, DIGITAL IN (8) & OUT SOURCE (8)	1	\$690.00	\$690.00	45%	\$379.50	\$379.50	N
	SAMD9B	MODULE, DIGITAL INPUT (16) ACTIVE LOW	1	\$690.00	\$690.00	45%	\$379.50	\$379.50	N
	SA-KRE1011217/02	ANTENNA,1574-1606 MHZ,WITH MOUNT	1	\$450.00	\$450.00	10%	\$405.00	\$405.00	V
	SN-CG2K	MULTICOUPLER, 7/800MHZ, 6MHZ, 8PORT	1	\$2,830.00	\$2,830.00	10%	\$2,547.00	\$2,547.00	VN
	VS-CU8N	ALCATEL,SX,MULTIMODE,LC,SFP,FIBR,550M	1	\$242.81	\$242.81	10%	\$218.53	\$218.53	VN
	VS-CU5H	CISCO MODULE,SX MULTIMODE,FIBR	1	\$480.00	\$480.00	10%	\$432.00	\$432.00	VN
	VS-CU9A	SWITCH,SMARTNET,C1000FE-24T-4G-L	1	\$1,150.00	\$1,150.00	10%	\$1,035.00	\$1,035.00	VN
	SN-7TXMX-S	STATION,TWO47, 700 MHZ, SPARE	1	\$24,000.00	\$24,000.00	45%	\$13,200.00	\$13,200.00	С
		Software Subscription Plans - (3 year plans x3 for 9 years coverage)							
	CON-SNT-C11114P	SNTC-8X5XNBD ISR 1100 Dual GE Ethernet Router For equipment - VS-VS-CR1Y-ROUTER,ISR,C1111-4P,SEC	1	\$444.42	\$444.42	0%	\$444.42	\$444.42	XV
	CON-SNT-C10E2L16	SNTC-8X5XNBD Catalyst 1000 16port GE, Ext PS, 2x1G SF For equipment - VS-CU8Z-SWITCH,SMARTNET,C1000-16T-E-2G-L	1	\$443.15	\$443.15	0%	\$443.15	\$443.15	XV
	3HE05610AB	Software Subscription Plan For equipment - VS-CR2U-ROUTER,NOKIA,7705,SAR-8,DC	1	\$295.40	\$295.40	0%	\$295.40	\$295.40	XV
	CON-SNT-C100024T	SNTC-8X5XNBD Catalyst 1000 24 port FE, 2x1G SFP,2X1G For equipment - VS-CU9A-SWITCH,SMARTNET,C1000FE-24T-4G-L	1	\$214.83	\$214.83	0%	\$214.83	\$214.83	XV
		4.7					Subtotal:	\$61,357.30	
E	Encrypted Pathway+								
	VS-CU9M	KIT, PATHWAY ANALOG GATEWAY W ENCRYPTION	2	\$6,000.00	\$12,000.00	0%	\$0.00	\$12,000.00	VN
	VS-PS3W	POWER SUPPLY,AC, PATHWAY	1	\$155.00	\$155.00	0%	\$0.00	\$155.00	VN
	SAMD9N	PSU, DC ICT, PATHWAY ANALOG GATEWAY	2	\$250.00	\$500.00	45%	\$225.00	\$275.00	N
	NS-SJ4D	LICENSE, PATHWAY APPLICATION	1	\$5,000.00	\$5,000.00	45%	\$2,250.00	\$2,750.00	N

**Hunt County** 

## Critical Spares and Interoperability System

	ormout opared and interoperation,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,						
14002-0246-A004	CABLE,XL MOBILES / PATHWAY+,RJ45-D44,4FT	1	\$325.00	\$325.00	45%	\$146.25	\$178.75	S
14002-0246-A008	CABLE,XL MOBILES / PATHWAY+,RJ45-D44,8FT	1	\$400.00	\$400.00	45%	\$180.00	\$220.00	S
14002-0245-A004	CABLE,XG25/75,M7300,PATHWY+,RJ45-D44,4FT	1	\$325.00	\$325.00	45%	\$146.25	\$178.75	S
14002-0245-A008	CABLE,XG25/75,M7300,PATHWY+,RJ45-D44,8FT	1	\$400.00	\$400.00	45%	\$180.00	\$220.00	S
						Subtotal:	\$15,977.50	
Pathway+ Return								
VS-CU9J	KIT, PATHWAY ANALOG GATEWAY	2					-\$3,881.46	
VS-CU9L	KIT, RACK MOUNT, PATHWAY DUAL UNIT	1					-\$176.13	
VS-PS3W	POWER SUPPLY,AC, PATHWAY	1					-\$96.54	
						Subtotal:	-\$4,154.13	
Interoperability Equipment and Services	s							
PROGRAM MANAGEMENT	PROGRAM MANAGEMENT	1	\$2,400.00	\$2,400.00	0%	\$0.00	\$2,400.00	XV
PROGRAM FINANCIAL ANALYST	PROGRAM FINANCIAL ANALYST	0.5	\$1,140.00	\$570.00	0%	\$0.00	\$570.00	
NETWORK ENG	IP PLAN UPDATE	1	\$1,333.60	\$1,333.60	0%	\$0.00	\$1,333.60	XV
SYSTEM ENG	CONFIGURATION ATP DOCUMENTATION	2	\$2,500.50	\$5,001.00	0%	\$0.00	\$5,001.00	XV
F2F ENGINEER	TRAVEL INSTALL CONFIGURATION TURNUP TEST	12	\$2,667.20	\$32,006.40	0%	\$0.00	\$32,006.40	XV
INSTALL	INTEROP RADIOS, ANTENNA SYSTEMS, AND GATEWAY INSTALLS	3 1	\$28,965.63	\$28,965.63	0%	\$0.00	\$32,185.60	XV
XT-PL6H	FEATURE, XL-BRIDGE, DFSI RADIO OPERATION	5	\$250.00	\$1,250.00	45%	\$137.50	\$687.50	N
VS-CU9L	KIT, RACK MOUNT, PATHWAY DUAL UNIT	1	\$194.00	\$194.00	10%	\$174.60	\$174.60	VN
SAMD9N	PSU, DC ICT, PATHWAY ANALOG GATEWAY	2	\$250.00	\$500.00	45%	\$137.50	\$275.00	Ν
14050-6400-23	CABLE, POWER, Y-SPLIT, DESKTOP	6	<b>\$17</b> 5.00	\$1,050.00	45%	\$96.25	\$577.50	S
Z99-0012-004	RACK MOUNT KIT XL-BRIDGE	10	\$838.64	\$8,386.36	45%	\$461.25	\$4,612.50	N
14002-0246-A008	CABLE,XL MOBILES / PATHWAY+,RJ45-D44,8FT	3	\$400.00	\$1,200.00	45%	\$540.00	\$660.00	S
SS-SG4T	LICENSE, CONVENTIONAL CONTROLS	5	\$1,250.00	\$6,250.00	45%	\$2,812.50	\$3,437.50	N
						Subtotal:	\$83,921.20	

Total: \$157,101.87